Dora says:

All coins are round. ]
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Do you agree with D

Justify your answer.

ora?

Which is the odd one out?

20p 8p

Why?

Teddy is given one _"T,LET]_ for

Christmas.

2p

sk 1y
H t & Y
Evais giventwo i s

10p

| got more than you did
because my number is
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bigger.

Teddy

| got more than you
did because | got
two notes.

Who is correct?

Explain your reasoning.

Dora is incorrect.

A 50 p coin isn't
round.

A 20 p coinisn't
round.

A £1coinisn't
round.

8p is the odd one
out because we do
not have an 8 p
coin.

Both Teddy and
Eva are wrong
because they both
have £10.

Eva has two £5
notes, which
makes £10,and
Teddy has a £10
note.

The tooth fairy left some money for two
children.

Jack has 50 pence. Mo has one pound.

Jack thinks he has more money because
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his coin is physically bigger.

Explain why Jack is wrong.

Jack, Rosie and Amir each have some
money in their pockets.

Jack and Amir both have coins and Rosie
has a note.

| have more money
than Rosie.
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Amir @Q@@@@
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| have less maney than
Rosie.
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Q@ @;} Jack

What note could Rosie have?

Always, sometimes, never

Money in notes is worth more than
money in coins.

Jack is wrong
because although
the 50 pence coin
is physically bigger
it only has a value
of 50 pence, but
the pound cain has
a value of 100
pence.

Rosie could have a
£5 note.

She could not
havea £10 or a
£20 note because
they are larger
than Amir's
amount.

Sometimes - if you
have £6 in coins it
is worth more than
a £5 note.
However you could
also have less than
£5in coins.



Tommy's piggy bank is full of 2 pence Fifteen 2 pence Alex has 2 silver coins. Alex has two 5

pieces,S pence pieces and 10 pence pieces equal 30 p. Teddy has 5 bronze coins. pence coins.
pieces. ' . 7
) . Six 5 pence pieces Amir has 1silver cain. Teddy has five 2
Using one type of coin at a time, how can .
he make 30 p? equal 30 p. pence coins.
Three 10 pence They all have the same amount of money. A i has one 10
pieces equals 30 Which coins do they each have? pence coin.

Collect or draw the cains to prove it.

.
&@ You could have

two 10 pence coins
w making 20 pence
and one 20 pence
coin but there are
not 5 bronze coins
which make 20

pence.

They all have 10 p.

Are there any other amounts that this
works for?



